FR2645E12A3A
BEREFNELE—

&EH1—-3

RRENMMARHBEEE—RFHRER
RRENMARUHEBEEEZRFHORER
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~265F S 1M1 ~22%F F£(H23.3.10)
LhEd/hI 0.036~0.041 0.034~0.069 -
BT ERE 0.012~0.015 0.015~0.029 -
[LEFRT/NEFE 0.006~0.022 0.020~0.31 -
BERAES L 0.022~0.029 0.025~0.039 -
A 0.024~0.028 0.009~0.046 0.010~0.042
= [ BT = i) 0.016~0.032 0.011~0.041 0.009~0.048
2 o TREtTRE &R | NIAF TR 0.036~0.049 0.031~0.049 -
(AFFH{E)| Ba/m’ RERAE 0.016~0.023 0.009~0.039 0.010~0.045
REEATRIR 0.014~0.032 0.014~0.058 0.007~0.076
PERTERLL 0.016 0.007~0.036 0.008~0.040
SRITHT KA L 0.051~0.057 0.042~0.061 -
BEN BS 0.042~0.057 0.051~0.088 -
BB RR 0.017~0.021 0.017~0.030 -
EEE— MP-1 0.017~0.020 0.008~0.035 0.006~0.030
MP-7 0.018~0.020 0.010~0.028 0.005~0.026
LbhEr/MI 0.052~0.056 0.048~0.084 -
HN AR EXR 0.029~0.033 0.033~0.047 -
LERRT/INETF 0.021~0.040 0.036~0.047 -
BERAFS L 0.038~0.052 0.041~0.054 —
e A 0.055~0.062 0.036~1.0 0.022~0.072
= [F BT = [ 0.036~0.054 0.035~2.0 0.021~0.074
£ B IRGTEE BEER | JIIRAF TR 0.057~0.072 0.051~0.070 -
(AMTEHE)| Bg/m® REERTKE 0.048~0.051 0.038~0.22 0.023~0.079
KEERTEKIR 0.091~0.10 0.089~0.17 0.019~0.12
PERTERLL 0.039~0.040 0.025~0.072 0.018~0.068
SRITHRT KA L 0.074~0.081 0.062~0.085 -
EEMN ES 0.066~0.083 0.073~0.12 -
EMEET RR 0.030~0.034 0.030~0.044 -
EEE— MP-1 0.033~0.039 0.023~0.061 0.020~0.058
MP-7 0.034~0.039 0.023~0.051 0.019~0.049
LhEm/hI ND ND —
LbhEM JIE] ND ND —
Em;ljmi%‘w%i;‘ﬁﬁ' ND ND —
gl H#H EHR ND ND~1.1 —
RRFECA [LEFET TFdbE ND ND~1.3 —
[LEFRT /NETE ND ND —
e A ND ~0.098 ND~580 ND
WER KES L ND ND -
EEE = 0.14~0.65 0.13~1100 ND
JIARF EJIA ND ND~1.6 -
EEE A% FIA ND ND —
- KEERT K% 0.062~0.16 ND~38 ND
REEHET KR ND~0.10 0.12~2.0 ND
Cs-134 | mBq/m° WEEHT AR 0.35~0.68 0072~6.5 ND
JRITET Kia L ND ND~0.058 -
BEEM %&& ND ND~1.3 -
BEEN ES ND ND -
mHEETR RR ND ND -
EHRET Eif ND~0.38 ND~0.45 -
EHEET KAFE ND ND~1.3 —
BREERT FEFLR ND~0.11 ND~1.1 —
JIRET IWRE ND~0.11 ND~1.3 —
mAHEET fAH ND~0.12 - -
EMEET FH ND~0.061 — —
= MP-3 43~13 6.5~88 ND
BE% MP—8 16~80 1.7~37 ND
P MP-1 0.010~0.066 ND~0.36 ND
MP-7 0.009~0.021 ND~0.75 ND
LhEm/hI ND ND —
LbhEM JIE] ND ND~0.25 —
ER T ZEREER ND ND —
H#d B5HR ND~0.22 ND~1.4 —
Cs-137 mBa/m® | EER | EHE FiE ND ND~1.8 —
LEFRT /NETF ND ND —
e A 0.057~0.30 ND ~520 ND
WER KES L ND ND -
EEE =M 0.42~1.9 0.20~990 ND
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~265F 1M ~224F [ (H23.3.10)
JIAA EJNA ND~0.11 ND~2.3 -
NIRRT FIA ND ND -
KEEHT K¥ 0.16~0.49 0.14~39 ND
KEERT XiR 0.12~0.36 0.36~5.5 ND
PEERT AR 1.1~2.0 0.10~7.6 ND
SRITHRT KA L 0.085~0.13 ND~0.10 -
e BEN EE& ND~0.31 ND~15 -
BER [ BEN 25 ND ND ~0.062 -
o137 Bo/m? %"EEEH RiR ND~0.052 ND —
JERTIN s— mBag/m HEH Ei5 ND~0.91 ND~1.2 -
AmTRLA EHEEm KAXFE ND~0.26 ND~1.8 —
BREEAT FFHR ND~0.31 ND~2.1 —
JIHRET ILWKRE ND~0.42 ND~1.4 —
mEET AR 0.12~0.32 - —
FEMEET FH 0.044~0.19 — -
e MP-3 12~37 10~200 ND
BE% MP-8 45~22 2.6~67 ND
- MP-1 0.041~0.19 0.027~0.55 ND
MP-7 0.022~0.050 ND~1.1 ND
LWhEH AZE ND ND~ 180 —
WhEm JIET ND ND~110 —
HHEET &E ND ND~37 —
EHRET Eif ND~55 ND~ 150 —
EAET [EET ND ND ~220 —
HiH #EE ND ND ~540 —
JIHRET ILWKRE ND ND~2100 —
[GEFET TFdbE ND ND ~ 240 —
Cs—-134 BIERT FE ND ND ~390 —
EMAT EFE 32~50 ND ~ 940000 ND
KEEET K% 32~130 22~5000000 ND
PEERT AR 52~170 49~8000 —
JEITHT GRIT ND ND~910 —
BIIET EE 34~46 ND ~ 940 —
JIAA EJNA ND ND ~ 620 —
g&%ﬁ%ﬁ 1 R ND ND ~2900 —
. T FEFR ND ND ~ 680 —
T MBa/km2| BER VP 5w AzE ND ND ~ 240 —
LhEM JIET ND ND ~ 200 —
EHRET =i 17~37 ND ~ 600 —
mHEETD Ei5 ND~ 120 ND ~ 1400 —
EHEET [RET ND~ 24 ND ~ 350 —
HftH ABEE ND ND ~ 650 —
JIHRET IWKRE ND~65 ND~4000 —
LEET FdE ND ND ~ 340 —
Cs-137 BER ZRE ND~37 ND~770 —
EMET = 75~150 63~ 1000000 ND~0.13
KEEHT K¥ 110~380 62~5600000 ND~0.15
FERT AR 180~590 61~ 12000 —
SEITHT GRIT ND~29 ND~ 1900 —
BITHT GEE 93~140 81~1100 —
JIARF EJIA ND ND~ 880 —
BEM #E 42~173 72~4200 —
BREEM FFR ND~ 46 ND~ 990 —
EHEE ND ND —
HA ND ND —
M= ND ND —
LhE ND ND —
L% ND ND ND
BE ND ND ND
Cs—134 Ba/t | REE =R - - ND
KEE - - ND
WE - - ND
SRIL ND ND ND
Lk S ND ND —
BE ND ND —
EREE ND ND~0.17 —
EHEE ND ND —
E:E) ND ND —
“f'g ND ND —
_ = e LM ND ND —
Cs-137 Bo/t | BBR iR ND ND~0.050 ND
BE ND ND ND
= - - ND
PN - - ND
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WE - - ND
RIT ND ND ND
Cs—137 Ba/2 | RER JIA ND ND —
BE 0.058 ND —
BREE 0.13 ND~0.29 —
L\bhE 0.47 0.60~0.72 —
EHEE ND ND~0.51 ND~0.82
EE;FT 0.44 ND~0.79 —
JIHR 0.67 ND~0.90 —
£K L% 0.47 0.54~0.75 ND~1.0
BE 0.69 0.45~0.96 ND~0.98
H-3 Ba/2 | RER =& - - ND~0.99
JIUA ND ND~0.57 —
KEE - - ND~1.2
WE - - ND~1.1
RIT ND ND~0.87 ND~1.0
BE 0.44 ND~0.69 —
EREE 0.74 0.50~0.87 —
F—(FEpukO ND ~0.060 ND~0.80 ND
F—(F)IokO ND~0.13 ND~2.4 ND
%_(%)qu?f 0.12~0.35 ND~0.96 ND
=A=R=| F—(F)HE ND ND ND
ERR *iR B ND ND ~0.094 ND
ﬂﬁ-ﬁﬁﬁl{yﬂ: ND ND —
FE-(FmEukO ND ND~0.20 ND
Cs-134 Ba/2 E—(3)HokO ND ND~0.12 ND
BmEE— K O 6.0 2.0~45 ND
ERUK O 48 0.12 ND~76 ND
bk O 448 0.29 ND~8.2 ND
BEEEC BokE 0.041 ND~0.36 ND
Rk ND ND~0.35 ND
ek 0.043 ND~0.23 ND
F—(F)mkO ND~0.14 ND~1.8 ND ~0.002
F—F)drokO 0.17~0.40 0.14~5.0 ND ~0.003
F—GFEKO 0.25~0.94 ND~2.0 ND~0.002
EEE F—(HK)+E ND~0.058 ND~0.12 ND ~0.002
- FKIR-gENAF ND ND~0.18 ND~0.002
iﬂﬁ-ﬁﬁﬁ&&llﬁﬂ ND ND~0.19 —
- FZ(F)EpokO ND ND~0.20 ND~0.003
Cs~137 Ba/2 % —(Fdrokn 0.10 ND~0.13 ND~0.002
mEE— K O 18 4.6~72 ND ~0.003
EIROK O 458 0.39 ND~110 ND~0.003
Je ok O 4458 0.93 ND~13 ND~0.002
BEEEC BokE 0.11 0.067~0.70 ND~0.003
ErokO ND 0.062~1.1 ND~0.003
ek O 0.080 0.079~0.47 ND~0.002
F—(F)mkO ND~0.51 ND~2.4 ND ~0.55
F—F)drokO 0.44~25 ND~2.5 ND~1.2
F—GF)EKO 1.1~26 ND~6.2 ND~0.58
EEE F—FK)+E ND~0.43 ND~0.58 ND~0.67
- KIR-gENF ND ND~0.53 ND~0.41
RE GBI ND~0.91 ND~0.58 —
H-3 Bq/2 F_(F)mEukO ND ND~0.56 ND~0.76
FZF)derokO ND ND~0.56 ND~1.1
=EE— K O 340 9.6~180 ND~0.67
EIROK O 45k ND ND~6.8 ND~0.55
Je ok O 458 25 ND~9.8 ND~0.62
kK BEE" kO ND ND ND~0.57
FERokO ND ND ND~0.77
derok O ND ND ND~0.47
=mEE— KO ND -
FOK O £k ND -
JERoK O R ND -
589 | Bal mEEmsT T mkO ND —
kO ND —
deRoka ND —
F—FmEpukO 0.003~0.009 0.006~0.69 —
F—F) kO 0.083~0.44 0.002~0.78 —
EEE %_(?qu?f O%ge~o.66 0.003~2.9 ND ~0.002
gTAdN F—F)HE .002~0.005 0.002~0.26 —
Sr-90 Ba/2 “‘;ﬁi xR -BE)Ih 0.002~0.006 0.001~0.027 —
E - GBI F 0.001~0.003 0.001~0.094 —
F_(FEpukO - 0.001~0.034 —
FZF)derokO - 0.003~0.033 —
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Bk O 21 0.001~0.003
EEFE—| mEmkOfhE 0.005~0.031 0.001~0.003
B FEHOK O 4458 0.68~1.2 -
Sr90 Ba/ HRK O 0.004~0.014 0.001~0.002
BEEZ kO 0.005~0.012 —
ek O 0.003~0.011 0.001~0.003
F—FmEukO ND ND -
F—F) kO ND ND -
Pu-238 | mBa/f | (BBX i?ﬁjlﬁ; mg mg -
N Tl ND ND -
FZF)mpukO ND ND -
FZF) ok ND ND -
F—FmEpukO ND~0.007 ND~0.014 -
F—EF) kO ND ND~0.14 -
EeE ’%’m—(%)ﬁgﬂ;ﬂ ND ND~0.010 -
Pu-239+240| mBa/t | (BBX ;E(%E)Jﬁ; “B mg:g'ggg ND~0.009
At RE GBI ND ~0.006 ND~0.010 -
FE-(FmEukO - 0.008~0.011 -
FZF)dpokO — ND~0.020 -
F—(F)mEukO 90 76~210 ND
F—(F)IrokO 130 120~290 ND
F—G)EKO 240 250~450 ND
= F—(HK)+E 130 25~100 ND
Ba/ke¥ | BBR S m iinw 24 45~60 ND
Cs—134 TRIE - Bl )11 27 19~61 —
FZ(F)EpokO 68 63~220 ND
FZFE)deBokO 29 36~74 ND
= mes_ | FARUKOAE 76 110~1200 ND
Ba/keRz | S kO HE 210 120~710 ND
= e ar — mpoka 74 55~200 ND
Ba/kefz | BEF = JtHokD 30 41~140 ND
FE—(FmEpukO 270 210~500 ND
F—F)drokO 360 280~580 ND
F—GFEKO 720 610~ 1000 ND
= F—FH)HFE 380 64~ 280 ND
Ba/kedz | BSR FiR-BEJIE 72 97~150 ND
Cs—137 WEE - B 81 53~130 —
s E-Fmkkad 200 170~470 ND~0.3
FZ(E)rokO 84 93~150 ND
e | FAMUKO4HE 220 210~1800 ND ~0.65
Ba/keR | 1255 S ROKO R 630 280~ 1100 ND
o e e — Bk 220 120~ 360 ND~0.61
Ba/kedt | RBE= JtHokD 90 92~250 ND~0.62
EEE— BERUKOfHE ND —
S8y | Baskets ——— R D =
RR%E= JEmke ND —
BELEY F—Gomrokn 0.36 ND~049 -
F—F) kO 0.20 ND~0.24 —
EaE F—(F)EKO 0.32 0.41~1.2 ND
(;';%’i E—(R)HFE 0.28 ND~0.19 ND
?ﬁ) %R -BEJIH ND ND ND
_ E - GBI F ND ND —
Sr90 | Ba/kefz % _—G@Bkn - ND~0.21 —
FZF) kO - ND —
EEE— BIAOK O 4456 41~22 ND~0.17
= JE K O 4856 9.1~19 —
= e a — EpokAa ND —
RR%E= JtHokO ND ND~0.15
F—FmEpukO ND ND
= F—F)drokO ND ND -
EEER T
i |eonar| G (RIS L0 : :
P eI ND ND -
E -Gl F ND ND~0.020 -
_ #ee | E-F)EKKkO ND ND -
Pu238 | Ba/keRl | ugexon @ = (3 d kDl ND ND _
_ seEGE | E—FmBoka 0.23 0.080~0.21 -
Pu239+240| Ba/keR | "g ) g5 — (30t puk D 017 0.090~0.32 -
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F—GF)EKO 0.30 0.27~0.28 0.15~0.43
EeE iﬁ(%)jﬁﬁ 0.57 0.39~0.52 0.28~0.48
= £ R-BEJILS 0.44 0.34~0.36 -
Pu=239+240| Ba/kefz (*",i,}%i TREE - Fil IR 0.34 0.33~0.41 -
£ =(F)mkkO - 0.25~0.31 -
F_(FdtmokO - 0.21~0.26 -
WbhEh AZE ND ND~19 —
Hfth S8 ND ND~26 —
[LEET EdbaB ND ND~95 ND
BER KE 140 50~ 300 ND
E[EBT FERL 40 55~ 240 ND
JIAA EJNA ND ND~12 —
REEAT kiR 680 540~ 3900 ND
BEER | KEERT XJIE 47 27~440 ND
PEERT AR 730 500~2100 ND
Cs-134 | Ba/kg&k SRITHT JrgidiE 19 21~160 —
EEN #E 44 63~150 —
EHEET ER ND ND~52 —
REEH BRE 280 210~570 —
REEH KIE 190 110~520 —
JIHRET WKRE 70 68~ 140 —
EEE— MP — 35k 850 890~ 27000 ND
BEEEEMR 2100 1700~220000 ND
Eas— | BEAMN 11 57~12000 ND
m LER R 27 85~17160 ND
LWhEh AZE 28 28~41
Hfih HE 17 16~55 —
LEPET EdE 12 17~190 ND~1.2
BIZE KE 410 110~660 ND~0.92
E[EET FERL 120 150~520 ND~0.04
JIARF EJIA ND ND~29 —
REERT XiR 2000 1400~ 8400 ND~0.07
EEE | KEEET XIIE 140 65~990 ND~0.08
Py 2300 1400~4500 ND~0.14
Cs-137 | Ba/ke®E RITHT dbsitiE 54 71~390 ND ~0.07
BES #E 130 190~370 —
EHEET HR 20 26~120 ND~0.03
BREEH BRE 830 550~1100 —
REEFT RIE 560 290~ 1000 —
JIRET IWRE 190 160~310 —
EaE— MP — 315k 2500 1600~ 39000 ND~0.04
BEEERME 5900 4700~310000 ND~0.14
EaE— FERAE 30 130~ 17000 ND~0.05
s B3 03 TR 71 200~ 22840 ND~0.06




